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Zadatak 4. Točkama B , C , D i E dužina AF podijeljena je na pet sukladnih dijelova.
Ako je C(−1, 1) , D(1,−2) , odredi koordinate točaka A i F .

Rješenje.
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3|−→AC| = 2|−−→CF| =⇒ |−→AC| =
2
3
|−−→CF| =⇒ λ1 =

2
3

2|−→AD| = 3|−−→DF| =⇒ |−→AD| =
3
2
|−−→DF| =⇒ λ2 =

3
2

xC =
xA + λ1xF

1 + λ1
yC =

yA + λ1yF

1 + λ1

xD =
xA + λ2xF

1 + λ2
yD =

yA + λ2yF

1 + λ2

−1 =
xA +

2
3

xF

1 +
2
3

/ · 5
3

1 =
yA +

2
3

yF

1 + |dr23
/ · 5

3

1 =
xA +

3
2

xF

1 +
3
2

· 5
2
, −2 =

yA +
3
2

yF

1 +
3
2

/ · 5
2

−5
3

= xA +
2
3

xF/ · 3
5
3

= yA +
2
3

yF/ · 3
5
2

= xA +
3
2

xF/ · 2 −5 = yA +
3
2

yF/ · 2

−5 + 3xA + 2xF/ · 2 5 = 3yA + 2yF/ · 2
5 = 2xA + 3xF/ · (−3) −10 = 2yA + 3yF/ · (−3)

−10 = 6xA + 4xF 10 = 6yA + 4yF
−15 = −6xA − 9xF 30 = −6yA − 9yF

−25 = −5xF =⇒ xF = 5 40 = −5yF =⇒ yF = −8

−5 = 3 · xA + 2 · 5 5 = 3yA + 2 · (−8)
−3xA = 10 + 5 =⇒ xA = −5 −3yA = −16 − 5 =⇒ yA = 7
A(−5, 7)
F(5,−8)
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